TOPolotrh £ GreomME Teia DIFFE LENRIA
Q,Q . 2()“('/ 5

Prof. M. Spua - UCSC - Bresda

Provo, Stalfs. alel 2‘('/ / 2015
l

@ T ;RB ) G Ly = dq/tdufﬂdt
v
LR D ) X = prudt loglp \\4%/
) Y = P L s v
( Z- plosH
Coll Lol g ]L#&u ‘ Sw'q p & P 2 Dikumanang 4 EIR
o~ ‘ | aP
( ) ok
N Mods e X (onsowe dvelaime - i)((-c w) =~e
@ 5a m-= 1)) et ¥ (u
A5G0 S AL o \\W
Conc huse, e {ve NN
@ In 2 1’?0,(1701 ‘27oy C Prmo ot‘l*avyfe )/4\,

P9 gk = XY A2 4 y2d . 2 Ay

Dere Az W =0 da' s ’ oo Utea &'Stn'lgk >0 e

4 ", \ .
eplnl ¢, o, e QIPAMeA, Mo duchne  aa
hoig Ak (o """VF‘«_' b(/(ifnsm‘cL‘ (’C‘}KMM/“( ,

TZ/VT\{EO o dlx'f5§g§{)-§hg; ‘LL.

i( V‘SFG&A\A Voo 0\,5‘1?%11\-\/47?\%%’77{( CjAMSl‘Ui-\(fNLC

4 -



@ M = M% Wz ,_r.!)'Af\IVAOD

W € 23 y € P)’) ?, = C) ._{_:’l (‘f\,f/‘f"? ’
/){- (\ EC\\')CN\;{.‘..’
W Xz p'im W COS‘f
o RN |
1= phaw AuY
Pz Pl
5 2 R % .
(s Woun Gunyhs .{,X[\) = P A W dp/t d“«t’/tdéf )
(gqm ) pétl/('u?
no X = p i
op g%

M A 0 ede O X (vt
o VO(/MMA ; ¥
) : ) = 0

! (0 Al dpadPage )
42
op
Loiz (paoui ) dpadiad + p s, ccp. dpAd artg
T ] or
( | 2 , :
3 () dp 480 ey P Lo 08 anany
\(_J/\/ “'JS‘MV O‘/}/U{ x3 V4G

J‘X"\ \ K A ! d
17" A padVadl 4 Pou dpana . d

& u B
ﬁiPJ&'MVZ “\A \QAf\I(F s P - dop+i “‘e{"’(“ N
:1I;a&%uwdpﬁﬂ\y. Ap PO( P ' Al op A dwad
7 -

2 T
P



i ( = 0 = O(:—Z
{ (analls } 3 , . p 2 i
z P = $p%d i . o 28
X:il‘: 4 .3 042 _z 2 . 2 .—:3?,
pray  p? ¢ o8~ 0§ op 7 %

: AN —""">
2 _ b -
pooutt dp«d\fndff = % Eo U dCE,«dU?AdSD

£ Ix(o) = 0 (One 4 Wdr ivhvmélx’a/*myh(’”\//t)

o -
@ PNz e H4 (1) M = %

= /"
(9§ 7
\ i ?k)() }-b«(,o /\,,/
¢ M S°xiR 4 4 by,
y } r O H =R
\—" (M) = \.—\ (5° </ H“:G’
H2- R
4 j—f';::c



{270,y 70,250}
Y2 dr + 2 4y

dq\ ) ' el
Vi oA an 2hx(, IM(/ﬁ Aple ¢,

\u
W = Ty 42 +
Dve & W=o0
UG r?fumm ¢ Oy n st Ak Loy

CD"”T\’W’M*{‘W/{{
LC\ ")Q(M){Q’Y\( ] Wm ¢ Aiadse W = d lt:fl‘{,%} (%')
=7 vl el WE= C >0
-S( o S ) ~ ' -
ot s 4&’ , nlefq oy = 25D
= 4 c\w = O
X=o2 £p2 +y2 W(x)=o
o) oy 2 |
| AL (x)
NP
ot ' X()
><(+) < 9 3 f
T/ = L 20y2)+ B2 () ey
o 'r?>‘7 (ARG
= LYt B2+ yay =0
= pruwieny, ad -
I e ‘L s i =, 3 -
A ‘P; e -\/ B =0
= O F): \7 5 - _2_

X/L: 1 __}_‘ ~ /.} o~
ol 707 % ?’“\ﬂm}‘g l\k, Xalzon
X g = \7 & 3 2 Cewlraltg -
0Y o2 12 .
a';t(’“ﬁ)—%gﬂ(lyl)

= dyy . 17;: o ed .



